Anx
Β
1
Work
Completion
Report

Company						0		
Project/site	Nilgiri Heights	rights	Nature of work	Earth work		Dt. site bills reg.	16/02/24	24
Block no.	A-Block		Work done from date	30/01/24	7	M-codex bill ID.		
WO no.	NA		Work done to date	12/02/24	-	WO issued ?	NA	
WO date	NA		Contractor bill no.		0	GST bill required?	NO	
SI. No.	Unit/floor	Details of work		Qty	Units	Rate ID	Rate	Amount
1.	UG Tank	Back filling at UG tank west side	tank west side	7605	Cft	EW131	1 25/-	9579/-
2.		Back filling at UG tank east side	tank east side	3835	Cft		1.25/-	4793/-
3.		Back filling at UG tank east side	tank east side	7540	Cft		1.25/-	9425/-
4.		Back filling at UG tank north side	tank north side	4160	Cft		1.25/-	5200/-
5.		Back filling at UG tank north side	tank north side	2496	Cft	EW131	1.25/-	3120/-
6.								
7.	Ramp	Back filling work tank	Back filling work at Ramp beside septic tank	5265	Cft	EW131	1.25/-	6581/-
8.	<b>B-Block</b>	Back filling work at B-Block lift	at B-Block lift	3300	Cft	EW131	1.25/-	4125/-
9.								
10.							Total	42,774/-
Remarks:	APPROVED	VED BY						
Approved by	Approved by project manager	;er	Approved by QS team		\$	Approved by Director/E&D team	ctor/E&D te	am
Sign:		FFR 2024	Sign:		S	Sign:		
Date:	1412	2124	Date:			Date:		
		1	Date.					

must be sent within 2 working days of work completion (with or without contractors bill), 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courier).

1705581038\_Intl memo no, 918-001 - QS - Anx B - Work Completion Report (1)

## Bill for Labour Charges T kurmanna Addres:H.no:45,Bank colony Hyderabad

Date.13.02.24

In favor of:	Nilgiri Heights
Project / Site:	Nilgiri Heights
Location:	Pocharam

Type of Work:Earth workTowards:Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Back filling work at block A.	Rs.17109/-
	Total Amount = 42774/-	N3.17109/-
	Work done from date: 30.1.2024 to date: 12.02.2024	

Amount in words:Seventeen thousand one hundred and nine rupees only.

Sign: \_\_\_\_\_

T.Kuramanna

## Bill for Equipment Charges T kurmanna Addres:H.no:45,Bank colony Hyderabad

Date.13.02.24

In favor of:	Nilgiri Heights
Project / Site:	Nilgiri Heights
Location:	Pocharam
Type of Work:	Earth work
Towards:	Allowance for Equipment charges

•

C

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Back filling work at block A.	Rs.17109/-
	Total Amount = 42774/-	
	Work done from date: 30.1.2024 to date: 12.02.2024	

Amount in words: Seventeen thousand one hundred and nine rupees only.

Sign: \_\_\_\_\_

T.Kuramanna

## Bill for Consumable Charges T kurmanna Addres:H.no:45,Bank colony Hyderabad

Date.13.02.24

In favor of: Project / Site: Location:	Nilgiri Heights Nilgiri Heights Pocharam	
Type of Work:	Earth work	

C

**Towards:** Allowance for Consumable charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Back filling work at block A. Total Amount = 42774/-	Rs.8554/-
	Work done from date: 30.1.2024 to date: 12.02.2024	

Amount in words: Eight thousand five hundred and fifty four rupees only.

Sign: \_\_\_\_\_

T.Kuramanna

3 Back	2 Bac					I Back	-		SNo.							MEA
Back filling work at Block B	Back filling work at Ramp					Back filling work at UG tanks		TICHI TICAN	Item Hoad	Date:	Prepared By:	Contractor:	Work Description:	Project:	Company Name:	MEASUREMENT SHEET
Back filling work at Block B Lift	Back filling work at Ramp beside septic tank	back lilling work at UG tanks north side	Back filling work at UG tanks north side	Back filling work at Ug tanks east side	Back filling work at Ug tanks east side	Back filling work at UG tanks West side		Item Description		13.02.2024	Anil.M	Kurmanna	Earth work	NGH	MRPLLP	
30.0	27.0	32.0	32.0	58.0	59.0	117.0		Length								
22.0	15.0	6.0	10.0	10.0	5.0	5.0		Width								
5.0	13.0	13.0	13.0	13.0	13.0	13.0		Height						1	Approve	
1.0	1.0	1.0	1.0	1.0	1.0	1.0		No's							Approved hv. Vijav rai	
3,300.0	5,265.0	2,496.0	4,160.0	7,540.0	3,835.0	7,605.0		Quantity						h) 14j	av rai	
Cft	Cft	Cft			Cft	Cft		Units								
								Item Head Total								

.

C

							Item Head Total								42,774.07
							Amount	9529.1	4793.8	9425.0	5200.0	3120.0	6581.3	4125.0	Total amount:
	Approved by: Vijay raj						Rate	1.3	1.3	1.3	1.3	1.3	1.3	1.3	
	Approved						Units	Cft	Cft	Cft	Cft	Cft	Cft	Cft	
							Quantity	7605.0	3835.0	7540.0	4160.0	2496.0	5265.0	3300.0	
	MRPLLP	NGH	Earth work	kurmanna	Anil.M	13.02.2024	Item Description	Back filling work at UG tanks West side	Back filling work at Ug tanks east side	Back filling work at Ug tanks east side	Back filling work at UG tanks north side	Back filling work at UG tanks north side	Back filling work at Ramp beside septic tank	Back filling work at Block B Lift	D
<b>ESTIMATE SHEET</b>		Project:	Work Description:				Item Head	Back filling work at I IG tanks	Dach IIIIIIg worn at CO mino				Back filling work at Ramp	Back filing work at Block B	Dach IIIIIIg worn at prove
							S No	-	1				2	6	n

X